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For the function to be continuous at a point, the function should be defined at that point the left-hand limit and right-hand limit of the function approaching that point should be equal to the value of function at that point. The functions  and  does not have finite value at . Therefore, the function is not continuous at . When the curve is followed from left to right as the function approaches  from the right both the left side limit and right-side limit at the point reaches towards positive infinite whereas the function is undefined at that point. As x move away from the function towards left and right infinity the function value approaches 0.
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From the graph, it can be seen that the domain for the function is (—oo, 0) U (0, +00) and the range [2, +00).
‘The vertical asymptote is x = 0 and there is no horizontal asymptote because as y grows larger it tends to
o.




